&

K2 Draw Latch
Rotary - Stylized wing

e Lift and Turn operation Spring Loaded 6.4
e Consistent pull-up (29 29
—j <~— 1.6(.06) B

Material and Finish - 17 (*_65) T //{%}
Stainless steel or steel, black Keeper |\ =
pondercoated el p3206) " 31 1.20—=
Performance Details 2 places <24 (.94)——| |
Steel: 1
Maximum working load: ) 2 (47) Trave
1230 N (275 Ibf)
Stainless steel:
Maximum working load: 335 191
845 N (190 Ibf) (3 L o
Operating temperature range: N Closed
-40°C (-40°F) to 80°C (175°F) (2
Installation Notes — |~— 1.3(.05)
Install assembly with @ 4 (.157) ~—19(.73)—
rivets or M4 (No. 8) screws (not ~— B8 ' 2 (20h
supplied)
Notes Fixed
Spring loaded: 4.‘ <— 1.6(.06)
Ideal for applications where shock -
and vibration occur. Compensates Keeper plate
up to 1.7 (.07) for mounting hole foptonal)
irregularities, panel variations and
gasket set. Also provides an (.111366;8614) 63201
additional allowance of 2.3 (.09) > Plates 042401 Loy | (.248+.004)
deflection when loaded. -% (.167+.004) i
....................................................... 2 Plases

: f e\) & — —

S
) L @ —o- 19101
: “ Lo _Jy (752000
6.4 (.25) K
{109 e
~<— 18 (.71)—> 2 Places
-~ 47 (1.85) ———>

Part Number

Part Number
Style Steel, Black Powder Coated Stainless Steel
See table
------------------------------------------------------- Spring loaded K2-3005-89 K2-3005-51 32740 (1.25+8])
.Q rder l atch and kee perse parately ..... Fixed K2-3001-89 K2-3001-51 32+0.2 (1.25+.01)
Keeper K4-2338-89 K4-2338-51

LS
www.southco.com/K2 Dimensions in millimeters (inch) unless otherwise stated SOU LhCO®



K3 Draw Latch
Rotary

’\*“-;:-J ; 349
- I

Hinge Lock

68+0.8
(2.69+.03) N

Open
62+0.8
(2.44+.03)
Closed

Long Slide
<—37(144)——|
C———3 21
20 (90) o (81) 2
175 (. 9}-__»' Keeper —{] (.09)
minink (shown  [fi
engaged)
69+0.8 B4
(2.70+.03) Slide ~
Open 5
62.5+0.8 16)
(2.46+.03) £ ) ———
Closed
SR b7 [ A et
< 38(1.50) <33 (1.29)~
Hinge Lock Long Slide
12°% 238%01 124 238
(47| = | (937 (47| = | (93)
g b A b
43
Panel | (1. 195) Panel |(1.697)
Jedees |y edges |
194( 750) 13 (.750)
v v
#3.3(.130) #3.3(.130)
(4 places) (4 places)

Latch Part Number

Low Profile
— 28.7 (L13) ~—
32 $° 4

(1.27) 195
l (.77)

Keeper
(optionaF\‘J:

21 (.83)

17.5(.69) T |

| =

49
1.678 —
(1.928) (Closed) &

Open
38 4‘ Aiti
= (150) (.38)

28 (1.10+.03)

Short Anchor Plate

(1.80 =.03)1:22 =03) J4 t===
Open Closed \ /
* () O
38 ‘
= (1500 T (L9
Low Profile Short Base
14.2 238
7.1 (56) [~ 12 j (930 [
(.28) ~ (A7) F ~—
S
j *?2
57 5
Panel
(2.24) § (1.281)
B INE T
(4 Places) '¢*—
035 I
(.136) 14.2 111
(4 Places) (.56) (.437)

Keeper Part Number

Material . ] ]
Hinge Lock Long Slide Low Profile Short Base Keeper Low Profile Keeper
Steel K3-1746-07 K3-2347-07 K3-2694-07 K3-1660-07 K3-0334-07 K3-2696-07
Stainless Steel ~ K3-2347-52 K3-1660-52 K3-0334-52 ~

southco

Dimensions in millimeters (inch) unless otherwise stated

o Adjustable grip

Material and Finish
Stainless steel or steel, zinc plated

Installation Notes

Install assembly with @ 3 (.125)
rivets or M3 (No. 4) screws (not
supplied)

Hinge lock style has an integrally
attached keeper

Part Number
See table

www.southco.com/K3



L K3 Draw Latch

\ / Rotary

o Lift and Turn operation Riveted Spring Loaded
e Consistent pull-up

Material and Finish
Stainless steel or steel, zinc plated

Installation Notes

46¢‘0.8
(1.82+.03)

Install assembly with @ 3 (.125) (2.08+.03) (2.07.03)
rivets or M3 (No. 4) screws (not Open
supplied) J_ J
....................................................... ' Keener 38 (1.50)
Notes p < 19(1.93) —»
) Keeper 2(09) 37
Spring Ioadeq: ' (shown engaged)ﬁj V -—F_(I'M)_’l Keeper —» (gg)
Ideal for applications where shock > T (shown engaged) Iy
and vibration occur. Compensates [ ! =1
. r-=- 39 E———1 21
up to 4 (.156) for mounting hole 1 (152) B —k(g) ——— 39
irregularities, panel variations and o | J (:50) " (1.52)
gasket set. 151 J
....................................................... = o [+ s
(1.29) 33 (58)|
(1.29)
Padlockable Kick-0Out Spring
24.(.94) 17.5(.69)
17.5 (.69) —H=—>
FE==r
T
51+0.8
(2.02+.03)
5808 C105ed (2.08+.03)
(2.27+.03) 24 Open
Open 12 (.938)
(A7) =
— — )_ ,—
< Panel 21 Kick-out spring lifts latch when
edges | (1.063) open for clearance of keeper
15° =~
_g% »
< 19 {\H/Keeper \ - 14 |
——--C _ < (750) H (optional) (¥ (.53)
: A
. N 1
‘\VJ 3.3(.130)
(4 places) - == -
‘<_24 =
<44 (1.75)—nl (9 , Internal
s ' kick-out -I-
spring
—(58) = shown
Part Number Part Number
Seetable _________________________________________ Rater) Riveted Spring Loaded Padlockahle Kick-Out Spring Keeper
Order latch and keeper separately Steel K3-1625-07 K3-1735-07 K3-2403-07 K3-1887-07 K3-0334-07
Stainless Steel K3-1625-52 K3-1735-52 K3-2403-52 K3-1887-52 K3-0334-52

LS
www.southco.com/K3 Dimensions in millimeters (inch) unless otherwise stated SOU LhCO®



K4 Draw Latch

e i
Rotary ¢ )
==
Riveted Keeper e Lift and Turn operation
e Consistent pull-up
Keeper—sn
> LI 29 - - -
(1.13) —= Material and Finish
17 —(i)— —(j}—- Steel, zinc plated
(65) _f ............... .......................................
o 6.4 Installation Notes
o (29 Install assembly with @ 4 (.157)
(2.42+.06) rivets or M4 (No. 8) screws (not
Open supplied)
~—33(13) — ‘ Notes
56 (2.19) | 39 (.79+.03) Spring loaded:
(1.54.03) Ideal for applications where shock
n and vibration occur. Compensates
. Keepgr ->|: up to 4 (.156) for mounting hole
(shown engaged) ,’ftﬂ irregularities, panel variations and
Y gasket set.
Ho 38
(1.50)
-3 12702
1 = (29
le—33(1.31) — % =0
le———56 (2.19) 39— l(79+.03) > > 985+0.2
~————64(2.51) (1.54) (1.125 +.008)
|
__G)_ | -
Key Lockable [
I 71
Keeperj:lt_I ;@— |
(shown engaged) /'~ g 42401 14+0.1
}' (.167+.004) ‘ (.563+.004)
N (5 Places) 8(.31)
o — ] 116201 |«
Rttty (i | — (.625.004)
[t \ 38
T=E=57 4 (1.50)
TET —
|
I ﬂ
17
(.68)
<—33(1.31) - 792003
56 (2.19) 75.03)
64 (2.51) 56 (2.19)
Part Number Part Number
Type
* Lath fooger | Seetable
Riveted K4-2714-07 Order latch and keeper separately
Spring loaded K4-2359-07 Ke-2338-07 | T
Key lockahle K4-2833-07

southco

Dimensions in millimeters (inch) unless otherwise stated

www.southco.com/K4



B =5 K5 Draw Latch
— Rotary

- o Lift and Turn operation Riveted (hex cam shown)

¢ Consistent pull-up Keeper —=p
_ : Hex cam or e
: Pos flat cam | |
Material and Finish ava”able—l
Stainless steel or steel, zinc plated
Installation Notes K==
Install assembly with @ 5 (3/16) 1I'F
rivets or M5 (No. 10) screws (not o! M5
. (s
supplied) 5 Y
Notes L s _,| L9
Spring loaded and low profile: (1.63) 21(.83) Hex (.35)
Ideal for applications where shock (27;)5) 17).67) Flat 43 (1.68) Hex
and vibration occur. Compensates ’ 40 (1.59) Flat
up to 4 (.16) for mounting hole
irregularities, panel variations and I
Keeper—e| Keeper
gasket set. e
% 127 .
500
! { ( | ) (2.00)
21 i_f¢_+_¢>
| ‘ (81) S 375 (Tl.48)
1|9 * = l
| i L .
|
‘ N i
‘ LU
35
e 7)) ———= 14.0 (1.375)
175 -
Spring Loaded (flat cam shown) (688) v GE
——22(88) !
f |1___~\ Hex cam or 1 12.7
E flat cam (2.?1238) (200
aneon MO avficble (see pote 54501
Closed o (.205 .004)
9615 " M/
(3.79.06) | ) — A
Open L/ ! 44 BS
(1.75) |
. L 285 | |<t9.520.1
<_(14é2)_>| 20(TNFat 1o T_ rs)
70 2.75) 24 (.95) Hex N  19:01
83 (3.25) 45 (1.78) Hex (.750)
44 (1.72) Flat

Part Number

Part Number

See table Material . Riveted Flat Low Profile | SpringLoaded | Spring Loaded

....................................................... Riveted Hex Cam ey Flat Cam Hex Cam Flat Cam Keeper

Order latch and keeper separately Steel K5-2812-07 | K52857-07 | K52814-07 | K5-2858-07 | K5-2856-07 | K5-2811-07
Stainless Steel 8 K5-2857-52 . . K5.2856.52 | K5-2811-52

LS
www.southco.com/K5 Dimensions in millimeters (inch) unless otherwise stated SOU LhCO®



K5 Draw Latch
Rotary

Padlockable (riveted hex cam shown) e Lift and Turn operation
16.5 (.65) 38 e Consistent pull-up

(1.500)
] [ Material and Finish

?_ _(? Steel, zinc plated
) | T )
- TJP_ - ‘é‘ Installation Notes
Install assembly with @ 5 (3/16)

(1.938) | rivets or M5 (No. 10) flat head
screws (not supplied)

;l N ....................................................
4.5 28.5 Ot_es
J_ (1.75) (1.125) Spring loaded:
- -*—_ Ideal for applications where shock
L a5 | %13 and vibration occur. Cqmpensates
(1.63) (83) 43 9 05.0 (.194) up to 4 (.16) for mounting hole
- 70 (2.75) — ~— ey 39 (8 Places) irregularities, panel variations and
127 gasket set.
: s ) e
Key Lockable ) Keeper L P o
29 eeper te
- 21 1 [ b
-_Lﬁ-gl-:l PN (81) i !
Ao 1\| [ T 37.5(1.48)
87+1.5 L
35
(3.43+0.6) —
Closed — 17(51.375) )
. ] —
I 688) e @
i (688) —|— 1
— - |
96+1.5 | : 44,5 12.7
(3.79+0.6) | (w79 T M (.500)
Open I 62(244) | Edges
k —5.4+0.1
= I (.205.004)
f Y
415169 ] | 7 places)
33 70(279) 24|35 28.5(1.125) | it
(13)  l~—83(3.25) —(.95) 3 "
9:01 [ [T 9('53172')1
Tool Operated (spring loaded shown) (.750) '
~r Keeper
———————====3 2 en aped =X Latch Part Number Part Number
7====0 N (engaged) /7Yy
—E\' "88;2 Padlockable Riveted Hex Cam |  K5-2754-07 See table
(3431’06) 7 \ prlng— WER/EE | | Y B . o0000000000000000000000000060000000000600600800000300®
Closed () version shown | [] P“d'glfr"iﬁg'fu?j:f‘““' K5-1994-07
96+1.5 N = 7 d_ T Key Lockable K5-2813-07
(3.79.06) i ,
Open /) | | A\ : 445 Tool Operated, Spring Loaded K5-2819-07
| _1_(1-75> Tool Operated, Riveted K5-2818-07
— Q} Q} L Wi Keeper Part Number
41.5(1.63) 24 |
K K5-2811-07
~—————83(3.25) (9503 g(35) = ke
Keeper, Padlockahle K5-1736-07

®
SOUthCO Dimensions in millimeters (inch) unless otherwise stated www.southco.com/K5



	09-Draw Latches-EN 25
	09-Draw Latches-EN 26
	09-Draw Latches-EN 27
	09-Draw Latches-EN 28
	09-Draw Latches-EN 29
	09-Draw Latches-EN 30

